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1 |Arae [Abae (A 29 | 122,584.000| 112,724,000 A9.860,000 | AtH] oI24H| 204 315,197,000 310,678,000 44,519,000
> |2x349 |2x349 |ANE2EZ | 519,129,000| 526,142,000] 7,013,000 | AL o124 H| e, 77.149,000| 72,749,000| A4,400,000
3 |222+y |2m349 [Nm=2Z2 | 14,300,000 36,470,000 22,170,000 | AFRH o124 H| HxSo | 44,577,000 40,731,000 43,846,000
4 |24y 22249 |HiNmE=Z=| 6.000,000] 15,626,000 9,626,000 | AtRH] ST MSIZETS | 40,490,000 30,043,000| 41,447,000
5 |mgz SR HolFe 3 6,240,000| 5,142,000 A 1,098,000 | AL ol2it| JIEF= M2 | 33,120,000 30,278,000| A2,842,000
6 |muz SR 258830 | a03.280,000| 430,198,000 36,909,000 | AHRH goxmy |zl 3,600,000| 3.562,000{ 438,000
7 |ozz olg=a FMACOIBZ | 54,336,000| 54,344,000 8,000 | AL HI SEE T I T 3,800,000 2,764,000 A1,036,000
8 |olaz olga FEENES | 36.415,000| 36,422,000 7,000 | Al b 2oy o1l 14,060,000 10,622,000| 43,438,000
9 |mry 49 JIEHE A 4,750,000|  7,741,000| 2,991,000 | Al b So| TEY = T 16,800,000 12,531,000| 44,269,000
10 0 0 0| At S| zze=z 23,300,000 20,444,000 A2,856,000
1 0 0 0| A=t o] MAZDZ | 12,180,000 11,547,000|  A633,000
2 0 0 0| At Soit| x| 10,700,000  7,194,000| 43,506,000
13 0 0 0| At o) o1z | 460,000 460,000 0
14 0 0 0| At o] JIErE | 5,750,000 10,038,000 4,288,000
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0 0 0 NEET 0| 2.000.000| 2,000,000
AR
0 0 0 xbl 14,398,000 15,033,000{ 635,000
AT
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0 0 0 Abien | 1.887.000| 13,187,000| 11,300,000
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REESIES,
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REEIES]
0 0 0 S hZss | 1,800,000 1,656,000 144,000
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0 0 0 S =R e | 5.300,0000 5,153,000 147,000
NEESE]
0 0 0 S pixx | 63,900,000 95,778,000 31,878,000
0 0 0 = Bret 3 1,333,000| 47,374,000 46,036,000
| = 1,157,043 1,224,809 1,157,043 1,224,809
e &l 000 00q| 67,766,000 000 00| 67.766,000
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